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EDUCATION
PAPER —1II

Note : This paper contains fifty (50) objective-type questions, each question carrying

10.

two (2) marks. Attempt all of them.

Who has said this - “Education is the manifestation of divine perfection already existing
in Man” ?

(A) Mahatma Gandhi (B) Swami Vivekananda

(C) Tagore (D) Sri Aurobindo

Which Philosophy believes in the five principles of conduct - (Truth, Non-stealing, Non-
violence, No sex life, Non-attachment) ?

(A) Buddhism (B) Jainism (C) Vedic (D) Islamic
Which one of the following is the main source of educational progress ?
(A) Educational Theory (B) Educational Practice

(C) Educational Philosophy (D) Educational History
Functions of Educational Philosophy is :

(A) Normative (B)  Critical

(C) Speculative (D) All the above

Weakest point of idealistic education is .

(A) Aims (B) Curriculum

(C) Methods of Teaching (D) Discipline

The moral values of life are associated with which problem of Philosophy ?
(A) Metaphysics (B) Epistemology

(C) Axiology (D) Cosmology

Which one of the following is not a form of Naturalism ?

(A) Physical Naturalism (B) Psychological Naturalism

(C) Mechanical Naturalism (D) Biological Naturalism

The main aim of idealistic education is .
(A) Self realization (B) Physical development
(C) Creation of intuition (D) To be practical

“Integration of the learning process” is the key note of the philosophy of the school :
(A) Idealism (B) Realism
(C) Existentialism (D) Pragmatism

Which school of Philosophy describes Philosophy as an activity having no content ?
(A) Logical Positivism (B) Naturalism
(C) Marxism (D) Sankhya Darshan
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11. Education should be vocational in character is advocated by :
(A) Naturalism (B) Realism
(C) Pragmatism (D) Idealism

12. Match out correctly the following names in List - A with List - B :
List - A List - B

(a) Sankhya (i) Swami Mahavira
(b) Vedanta (i) Gautam Buddha
() Buddhism (i) Kapil
(d) Jainism (iv) Shankaracharya
(v) Kanad
Codes :
(@ (b) () (d)
@ O v G G
® v O @
© (i) (v @) @
O ) G O (i)
13. Match the following :
List - X List - Y
(a) Navodaya Vidyalaya (i)  Culturally Decided
(b) Home (i) Socialisation
(c) Changing way of life (iii) Equality of educational opportunities
(d) Social stratification (iv) Modernisation
Codes :
(@ (b) () (d)
@ (O @) G @)
B () (@) () 0
© (i) (v @) O
O () @) () )

14. Assertion (A) : Girls from poor families usually drop out of the school.
Reason (R) : Girls look after their younger brothers and sisters at home.
(A) (A) and (R) both are correct
(B) (A) and (R) both are wrong
(C) Only (A) is correct
(D) Only (R) is correct

15. The skills and knowledge acquired in the classroom are actually utilised by the individual
in his/her adjustment to :
(A) Social Situation (B) Social Science
(C) Social Culture (D) Social Behaviour

16. Which of the following is informal agency of education ?
(A) Play ground (B) Library

(C) Seminar (D) Classroom

D —-0908 4
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17.

18.

19.

20.

21.

22.

23.

24.

25.

Which one of the following is not an agency of socialisation ?
(A) Kin group (B) Neighbourhood
(C) Playmates (D) Printed material

Which of the following is a barrier to social change ?
(A) Aristocracy (B) Thinking
(C) Pragmatic outlook (D) Poverty

The concept of “‘Continuous learning’ is the outcome of :
(A) need to educate large number of illiterates

(B) people’s desire to learn more

(C) dynamics of expansion of knowledge

(D) need to apprise oneself with latest knowledge

Sociology of education includes :

(A) Social relations by which an individual gains experiences.
(B) Social development in the country.

(C) Society and its relationship with the individual.

(D) Communication of individual with society.

Which of the following is included in the implied concept of school as a social agency ?
(A) Curriculum should be organized in terms of social values.

(B) Curriculum should be organized in terms of development of knowledge.

(C) Curriculum should be organized as per needs of the individual child.

(D) Curriculum should be organized in terms of local needs.

Which of the following is not one of the four pillars of education ?
(A) Learning to be (B) Learning to live peacefully with others
(C) Learning to work (D) Learning to know

“Educational change and social change are independent, but which is the cause and
which is the effect cannot be determined” are the views of :

(A) Gandhiji (B) Dewey

(C) Auguste Comte (D) Ottoway

Stratification in society is based on :

(A) Power, Property and Prestige

(B) Culture, Caste and Class

(C) Education, Earning and Empowerment

(D) Motivation, Mobility and Material possession

Educational psychology is not :
(A) a behavioural science (B) an applied science
(C) a normative science (D) a social science

D —-0908 6
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20.

21.
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23.
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26. Identify the true statement from the following :
(A) A certain level of intelligence is essential for being creative
(B) A highly intelligent person is highly creative
(C) A person with low intelligence can be creative
(D) Intelligence and creativity are not related to each other.
27. “Negative reinforcement” means :
(A) not presenting any stimulus
(B) presenting an unpleasant stimulus
(C) punishment
(D) terminating an unpleasant stimulus
28. ‘Programmed learning’ is based on :
(A) field theory (B) operant conditioning
(C) gestalt learning theory (D) classical conditioning

29. Enquiry learning is conducive for development of :
(A) memory (B) imagination
(C) cognitive skills (D) creativity

30. Match List - I with List - II :
List-1 List - II

(a) Schedules of Reinforcement (i) Maslow
(b)  Equilibration (if) Carl Rogers
(c) Student centred learning (iii) Piaget
(d) Self actualisation (iv) Skinner
(v) Bandura
Code :
(@ (b) (o) (d)
(A) @) @) @ Gv)
(B) Gv) (@) @) ()
© @) @ (v ()
D) v @ @ @)
31. Experiential learning is advocated by :
(A) Humanists (B) Behaviourists
(C) Cognitive psychologists (D) Gestaltians

32.  Which of the following is not a defence mechanism ?
(A) Regression (B) Sublimation
(C) Association (D) Compensation
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33.

34.

35.

36.

37.

38.

39.

40.

It is a self-reporting technique of assessing personality :
(A) Observation (B) Rorschach inkblot test
(C) Questionnaire (D) Draw-a-man test

‘Learning disabled” children are mostly :
(A) aggressive (B) organised
(C) consistent (D) underachievers

A child’s attitude ‘I don’t care’ is a type of behaviour which can be called :
(A) aggression (B) defence
(C) denial (D) retrogression

Which of the following statements is not correct about guidance ?
(A) Guidance worker maintains confidentiality of information.
B) Guidance workers does not need any special training.
) Minimum guidance programme depends only on budget available in the school.
D) Group guidance is a co-operative venture.

A researcher wants to test the hypothesis that “there is no significant difference between
means of control and experimental groups.” At the time of analysing the data, he
noticed that there is a constant error in the score where real score is higher than the
observed. What should he do ?

(A) ignore the mistake (B) rescore the data
(C) add error in each score (D) any of the above

Which one of the following statements is not true ?
(A) Historical research uses criticism of data

(B) Correlational studies have low validity
(C) Findings of an experimental study can be reverified
(D) Randomization procedures in experimental designs provide sufficient experiment

control

Which one of the following does not belong to the construct that other three belong to ?
(A) t-test (B) F-test
© r (D) X2

A researcher has decided to test his one-tailed hypothesis at .01 level of significance.
The critical value expected for rejection of Null Hypothesis would be a value equivalent

to level of significance for a two-tailed hypothesis.
(A) .01 (B) .02
(C) .005 (D) None of the above
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41.

42.

43.

44.

45.

A researcher is developing items bank for an achievement test in subject A, where item
can be either right or wrong. He has selected upper (top 27%) and lower (bottom 27%)
of the group for item analysis. Which of the following would be the most appropriate
method for determining directly validity of an item ?

(A) Point Bi-serial (B) Phi-coefficient

(C) Chi-square (D) Tetrachoric

A researcher wants to study association between variable X and variable Y whereas
there is a variable Z which influences both. If he wants to study the real value, he can
do so by :

(A) Calculating partial correlation

(B) Calculating multiple correlation

(C) Calculating product-moment correlation

(D) Using X?

If a researcher wants to study achievement in a school subject with respect to the
intelligence than he has to take :

(A) One variable in Nominal scale and other in Interval scale

(B) Both the variables in Interval scale

(C) Both the variables in Ratio scale

(D) One variable in Interval scale and other in Ratio scale

Purposeful sampling refers to :
(A) strategies to find information-rich cases simultaneously

(B) sampling procedure designed before data collection

(C) the least desirable strategy of comprehensive sampling

(D) a type of probability sampling

Match Column - A with Column - B and select the correct combination from the list

provided :
Column - A Column - B

(a) Tests theories and explains (i) Applied research
relations in behavioural sciences

(b)  Tests usefulness of scientific (ii) Basic research
theories in a given field

(c) Establishes an accepted body (iii) Evaluation research

of research-based knowledge
in a given field

(d) Assesses the merit and worth
of a particular practice at a

given site
Codes :

@ (b) (9 (d)
(A) @) @) (i) (i)
(B) (@) () (i) (i)
(©) (i) @) @) (i)
(D) Gi) @) @) (i)
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(b) Tt &= ® S fagia &t (i) g o
YT Y S FAT

(c) Twel & H vy senfa wied (iti) HeAHT MY
T o1 Tad ST |

(d) forelt PR  foRiY Y= < U
I I Hedioh LT |

e
(@ (b) () (d)

(A) (@) (@) (D) (i)

(B) O @) @) (i)

(© ) @ @) ()

(D) (i) (@) (i) (i)
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46. Two characteristics of ex post facto research are :

randomization and comparison of groups

non-randomization and manipulation of independent variable
non-manipulation and non-randomization

non-manipulation and randomization

47. Which of the following circumstances necessitates the use of a quasi-experimental design ?

(A)

Experimenter has to collect data by himself

A pretest has to be administered

When more than one independent variable has to be introduced
Experimenter cannot assign subjects randomly

48. Preparation of a research proposal involves :

Using the first person voice in writing

Using a unique format and style

Letting the typist decide the format and style
Carefully following the required format and style

49. Given below are two lists, you have to find the best match for the term in List - A from
the List - B. Select the correct match :

Z

Sa

List - A List - B

Construct validity (i) measure of fair representation

Content validity (i) measure of theoretical processes

Concurrent validity (iii) measure of product/performance
(iv) measure of agreement with known

results

(@ (b) (9

@ 0 @

0 ) (i)

(i) @) (iv)

(i) (v) ()

50. For quantitative research, the external validity refers to :

(A)

D —-0908

the use of research results in only the setting of that study
how well the research was done

the characteristics of the subjects of the study

the generalizability of the results of the study
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46. FHERR (TH U Thadl) WY F 3 TG O E :
(A) TRl T AGToShIR o o |
(B) TG =R I IR ARl o R
(C) TR-9R=mer iR R-Agfegehiatun |
(D) R-ufETed iR AgresHhie |

47. Trefafed 8 @ #F @ goma # o1e-urefies aftey (fesmes) STamT &3 it sTavashd © ?
(A) TN 1 T HS 3ohg F B
(B) T TH-TH&U I i STELIHRA T |
(C) <& T § Aok s =) T&gd & B |
(D) YNl A i ATGfoseh Tk o Fafeerd 7 %L Fehal & |

48. Iy W& i # ffed §)
(A) Torem o 9o qey 1 ST |
(B) T 3fgdra @ Jelt
(C) F9@l g Welt Tl el R T Bie|
(D) oTUfaa U@ 9 el ! WAL Iodh A7 |

49, = < Wferhd < 7 ¥ | Aferent - A § 53 T T Aferent - B H U e @ | Haiferh-
SUYH Ul AT | HE HeA 1 =T A
arfetant - A arfetent - B
(a) TYTI AT () Troog yfafafaa w1 A=
(b) faw= Ser (i) Sgifaew ufped 1 A
(c) Tmad dea (iif) T/ FToaTE W1 Ao
(iv) Ta qei a9kl o ey

b

(2
(i
0
(i
(i

iii)

b) (c)
i) (iv)
i)
iii)

iv)

—

(
( (i
( (i
( (i
( (

CGEE

50. T[UCHeR oY H SRl deran st e
(A) haa 34t Tearfa 9 21 sy 9ROl w1 3w
(B) =iy fera a1=et foRan =
(C) 177 & fawa &t feroand
(D) 3A=II o URUMHI ST FH=ARTT

-00o0-
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